AT BATH S B BRALE B RS 3%

e omi | msk | g FERH I o
LHET R A BB RRL DL 2 , ROk, Gt
S R . e TR AR Tl O
D TAETE R I DL eI T (R 2, A B
L5 R TR PR | iR T 2 R B B R H 12, BT
e R S T E D
D g | PSR |, BRI [3ARRER: e
Ly ey R R (1) ERECAER, Wk, s, s | JOR
3.5 5 )BT BRI TR P |48, FL BP0 Mgk 7RI B
L S (2) B RIFIISASHIRE /1, MRS A
el
(3) B BB R A AE A S, BhE R
AT B, A0SR SR T T ).
LHCEIE S A EAIRSE AR B DL E 2, AT e
LB LR TR BN RTS8, Sor. M. Gl R, SR R
RS, B IO SR B | B s
oy DTS Fe 3F b T L A AT
2.5 S ULERT BN SR NG s |20, FUH R R At H ek, ST
R 23T o ; A N
2 || S| 1 s Smesk sy ARGHAKE (B IEDRRER. Tt

i, ENLE P BRI AW R SRR
s

4.2 5L ARAT (5 RS 8 B H e
R, o B2 BR G s AT AT
P, BEIH TR R A

(1 BHEBUERTL, WDk, WEE, T
o, HA RIFHAS N AT IR 57

(2) %4ESAS. Python. R. Matlab%s— ik £ Fiié
=

(3) BARIFHBIHEREMAERRES, PMEREIR
FIPATRE 158, REWS AR Z R ok B 1) TAE IR /7.




